Unit 7 Challenge

(@ You are playing Hit the Target. Your target number is 70 and
your starting number is 36.

a. Show how you can hit the target number in two changes.

Target number: /0

Starting Change Result Change Result
number 7\ esu 7\ esu
36

b. Show how you can hit the target number in one change.

Target number: 70

Starting Change

number /-\ Result
36

c. How can you use Problem 1a fo help you solve Problem 1b?

(2 Solve 6 + 19 + 11 + 4.
first and why.

Explain which numbers you added
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